Supplementary figures JCBFM

ACAprox ACAmid ACAdist MCAprox MCAmid
- - - 60
w3 IR PO T U] wf. T
— | = x| _60 = T« ¥F_ i o ] d -
£ .| E £ - |E * T £
E% 1% 11E | i 3 4| E0 i & E ¥ % : Esld & P
g |4 Y - 218 : g S|k 3
o [=] (=] o o
£ £ 40 £ £ £
w 3g [ W f w w
o ) o 1 o o
O .I QIR . - i‘ | i b IS * ? O 30 §
20 Sk R N S T
q\ N UBIRCATN TR { A (= O N RO AT (2 RO T TR L B (2
B : 5
Q.?’O‘c, ‘?O‘c-"w & Pgo@(,ebggw“ & Pgoeaorﬁe s e"oaf'“”e 3 e Oe;;’ée‘”

MCAdist PCAprox PCAmid PCAdist
80 * %% B0 [ e ¢ * TOf g %% o %%
60 : -

T T = 70 Flax - ;, T
£ 4 & .|z T oz :
Esof 4 tiE E %€ &
I3 260 8 &s0
o [=] (=] o
Z 40 Z 50 Z 50 =
E 2 = 1' 3 ] Ew :
ésﬂ E i Em A Edo ESO I h I

: 4 &) sofd I I a0 ; i i

L T » * L

20 20 20

SFigure 1: CBF boxplots for the baseline (v1) and follow-up (v2) visits for subjects with complete
longitudinal data and the considered APOEe4 positive and negative groups. Single green asterisks
indicate significant within group longitudinal changes that did not survive FDR, whereas a double
asterisk suggests that the detected difference survived FDR. Red crosses were identified outliers.
Abbreviations: ACA=anterior cerebral artery; MCA=middle cerebral artery; PCA=posterior cerebral

artery, CVRi=cerebrovascular resistance index; CBF= cerebral blood flow. P, m and d suffixes stand

for posterior, middle and distal



SFigure 2: CVRi boxplots for the baseline (v1) and follow-up (v2) visits for subjects with complete
longitudinal data and the considered APOEe4 positive and negative groups. Single green asterisks
indicate significant within group longitudinal changes that did not survive FDR, whereas a double
asterisk suggests that the detected difference survived FDR. Red crosses were identified outliers.
Abbreviations: ACA=anterior cerebral artery; MCA=middle cerebral artery; PCA=posterior cerebral

artery, CVRi=cerebrovascular resistance index; CBF= cerebral blood flow. P, m and d suffixes stand

for posterior, middle and distal
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